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Antonym:  

1. Transparency is needed in dealing with a matter of public interest.  
(a) Haziness (b) Trauma (c) Turbulence (d) Transition 

2. The opposite of ‘remote’ is  
(a) High (b) Less (c) Far (d) Near 

3. Select the pair in the following options, which is set in opposition: 
(a) Erroneous – Faulty  (b) Reticent – Silent (c) Vilify – Slander (d) None of the above 

 
4. Chaos reigned supreme at the football match.  

(a) Order (b) Confusion (c) Luck (d) Anarchy 

5. The high-handed ways of the manager made him an enemy of the people. 
(a) Submissive and friendly (b) Ignorant (c) Angry (d) Impatient 

Synonym​:  

6. Insipid is 
 (a) Foolish (b) Exciting (c) Dull (d) Sensible 

7. Incognito is 
(a) Candid (b) Impromptu (c) Opposed (d) Disguised 

8. Embezzle  
(a) Steal (b) Steel (c) Honesty (d) Dazzle 

9. A ‘Page’ also means  
(a) A sweet dish (b) A chauffeur (c) A book (d) A servant 

10. The maiden’s clothes were so bizarre that they created quite a sensation.  
(a) Beautiful (b) Grotesque (c) Mundane (d) Lugubrious 

Idioms: 

11. He stood in hot water  
(a) in trouble or disgrace (b) met with an accident (c) stepped into boiling water (d) was angry 
 
12. There’s ​no love lost between​ them.  
(a) Avoid (b) Not on good terms (c) Challenge (d) Quarrel 

13. The expression ‘to take stock of’ means : 
(a) To question (b) To argue (c) To survey (d) To manipulate 

14. The belief in witch craft is ​losing ground​.  
(a) Becoming less acceptable (b) Becoming popular (c) Becoming powerful (d) Losing principle 
 

15. She is a little ​under the weather today​.  
(a) Feeling unwell (b) Feeling excited                  (c) In sync with the weather (d) Feeling sad 
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16. The word ‘necrophilia’ means  
(a) Love for insects (B) Love for children     (C) Cultivation of knowledge           (D) Fascination with dead bodies 
 
17. One who considers the happiness and well-being of others first is an  
(a) Atheist (b) Altruistic (c) Alchemist (d) Aesthete 

18. An orthopedist deals with  
(a) Eyes (b) Lungs (c) Bones (d) Childbirth 

19. An illness that is likely to be fatal is  
(a) Mortal (b) Serious (c) Slight (d) Temporary 

20. A misanthrope is a person who  
(a) dislikes women (b) dislikes other people          (c) dislikes children              (d) dislikes Nature 
 
21. A person of outgoing nature is known as a/an  
(a) Stoic (b) Extrovert (c) Megalomaniac (d) Philanthropist 

22. I prevailed _____ him to join our group.  
(a) on (b) upon (c) beside (d) along with 

23. I was alarmed ____ the news of my brother’s illness.  
(a) in (b) at (c) to (d) away 

24. I have no desire _____ fame.  
(a) of (b) for (c) in (d) to 

25. There is an exception _____ every rule.  
(a) to (b) For (c) In (d) up 

26. PM Modi has recently launched the Atal Bhujal Yojana. What is the project outlay of the scheme? 
a. 3000 crore b. 4500 crore c. 6000 crore d. 5000 crore 

27. Rohtang tunnel named after former Prime Minister Atal Bihari Vajpayee, connects which two places? 
a. Leh and Manali b. Srinagar and Leh c. Lahaul Valley and Spiti d. Dharamshala and Kullu 
 
28. Which Railway Station of India certified with the five-star rating by the Food Safety and Standards Authority of India (FSSAI) 
for food safety and hygiene? 
a. Bengaluru b. Kochi c. Chennai d. Mumbai 

29. Which one of the following statements regarding haemoglobin is correct? 
a. Haemoglobin present in RBC can carry only oxygen but not carbon dioxide 
b. Haemoglobin of RBC can carry both oxygen and carbon dioxide 
c. Haemoglobin of RBC can carry only carbon dioxide 
d. Haemoglobin is only used for blood clotting and not for carrying gases. 
 

30. As per the ICC Test rankings, who has become the top ranked batman for 2019? 

a) Babar Azam b) Virat Kohli c) Steve Smith d) Kane Williamson 
 
31. Who is appointed as the first woman Chief Technology Officer (CTO) at the US government's powerful Federal 
Communications Commission? 

a) Tulsi Gabbard b) Falu Shah c) Zulekha Daud d)Monisha Ghosh 
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32. ‘Oxygen Parlour’ has set up at which railway station to combat the rising air pollution? 
a) Visakhapatnam b) Chennai c) New Delhi d) Nashik 

33. Who among the following has been appointed as the President of the Federation of Indian Chambers of Commerce & 
Industry (FICCI) for 2019-20? 

a) Sandip Somany b) Uday Shankar c) Dr. Sangita Reddy d) Sanjiv Mehta 

34. President of India Ram Nath Kovind has inaugurated Mobile Application of the Red Cross Society at which city of India? 
a) Hyderabad b) Visakhapatnam c) Mumbai d) New Delhi 

35. The first Janta Clinic inaugurated in which city of Rajasthan? 
a) Jodhpur b) Jaipur c) Bikaner d) Kota 

 
36. Indian Railways has installed the first atmospheric water generator called ____ to harvest water directly from air through a 
series of steps. 

a) Ritu b) Varsh c) Aquatech d) Meghdoot 

37. Laura Marsh recently announced international retirement, she played for which country? 
a) South Africa b) Australia c) England d) West Indies 

38. Project Mars Rover 2020 belongs to which country? 
a) Russia b) USA c) Japan d) China 

39. In which state foundation stone for two Integrated Processing Units of Indian Farmers Fertilizer Cooperative Organics 
Limited has been laid down? 

a) Arunachal Pradesh b) Himachal Pradesh c) Sikkim d) Meghalaya 

40. Who among the following has been named International Tennis Federation's (ITF) World Champions for 2019 in Men’s 
category? 

a) Rafael Nadal b) Danil Medvedev c) Novak Djokovic d) Roger Federer 

41. Common Currency of 8 West African countries changed from CFA Franc to__________. 
a) Peso b) Eco c) Dollar d) Rand 

42. Which country announced Gandhi Citizenship Education Prize 2019? 
a) South Africa b) Portugal c) Mauritius d) Sri Lanka 

43. Anti-hijacking exercise, Apharan was conducted by the Indian Navy at which place? 
a) Goa b) Mumba      c) Balasore d) Kochi 

44. Who is the costliest foreign player in IPL (Indian Premier League) 2019? 
a) Ben Stock b) Glan Maxwell c) Pet Commins d) Steve Smith 

45. Which of the following institutions has agreed to provide $100 million to India’s National Investment and Infrastructure 
Fund’s (NIIF) that aims to raise about $1 billion to invest in up to 10 private equity funds? 
a. International Finance Corporation (IFC) b. New Development Bank (NDB) 
c. Asian Infrastructure Investment Bank (AIIB) d. Asian Development Bank (ADB) 
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46. Name the book written by PM Modi which was recently launched in Braille edition? 
a) Manki Bat b) How to be a champion? c) Let’s Read d) Exam Warriors 

47. Name the CBI officer who won the 'India Cyber Cop of the Year 2019' award of NASSCOM-DSCI? 
a) NavajyotiGogoi b) Rahul Sachdeva c) BP Raju  d) Prem Tyagi 

48. Which mission was launched by union minister Shri Ravi Shankar Prasad to engage all the people in digital communication 
infrastructure? 
a. Bharat Broadband Mission (BBM) b. Bharat Internet Mission (BIM) 
c. National Broadband Mission (NBM) d. National Digital Mission (NDM) 

49. In which place Union Minister of Home Affairs Amit Shah laid down the foundation stone for ‘Bharat Vandana Park’ worth 
Rs.550 crores? 
a. Ahmedabad, Gujarat b. Dwarka, Delhi c. Kolkata, West Bengal d. Mumbai, Maharashtra 

50. Who among the following has won Sahitya Akademi Award in the creative non-fiction category in English literature? 
a. Arundhati Roy b. Amitav Ghosh c. Chetan Bhagat d. Shashi Tharoor 

51. A river 1.5 m deep and 36 m wide is flowing at the rate of 3.5 km per hour. The amount of water that runs into the sea per 
minute (in cubic meter) is 
 a. 3150 b.31500   c. 6300  d. 63000 

52. When the numerator of a fraction increases by 4, the fraction increases by 2 . The denominator of the fraction is 
 a. 2      b. 3      c. 4      d. 6 

53. Average of ten positive numbers is x. If each number is increased by 10%, then x 
a. remains unchanged  b. may decrease c. may increase     d. is increased by 10%. 

54. A single person takes 6 minutes to fill a bottle. If from 11 am to 12.30 pm 1845 bottles are to be filled, how many persons 
should be employed on this job? 
 a. 121 b. 127  c. 123  d.139 

55. A cricket team won 3 matches more than they lost. If a Win gives them 2 points and Loss (-1) point, how many matches, in 
all, have they played if their score is 23? 
  a. 17      b. 20       c. 37       d. 40 

56. Free books were distributed equally among children of a class. The number of books each child got was one-eighth of the 
number of children. Had the number of children been half, each child would have got 16 books. How many books were 
distributed in total? 
 a. 256  b. 432      c. 512      d. 640 

57. If the length of radius of a right circular cylinder is doubled and height is halved, the lateral surface area will be 
 a. equal   b. double       c. half       d. 4 times 

58. The length of a radius of a circle is 13 cm. and the length of a chord of the circle is 10 cm., the distance of the chord from the 
center of the circle is 
a. 12.5 cm.     b. 12 cm.     c. 69 cm.     d. 24 cm. 

59. 10​2​+1/100+0.0001 equals to 
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a. 1.000101     b. 10.00101      c. 100.0101     d. None of the above 

 

60.  If S=ut+1/2at​2​ and u = 50, a = 9.8, t = 2 the value of S is 
 a.  119.6      b. 109.8     c. 69.6     d.139.2 

61. A circular lawn has an area of 154 sq. meter. A path of 7 meter width surrounds the lawn. What is the area of the lawn 
including the path ? (in sq. meter) 
a.  580       b.  516      c. 616      d. 637 

62. Sushant spent 18% of his monthly salary on buying electronic goods and 32% of the monthly salary on repair work in his 
house. Out of remaining amount he invested 42% in fixed deposit. If he was left with Rs. 12,325, how much is his annual salary ? 
a. Rs. 5,18,000       b. Rs. 5,15,600      c. Rs. 5,10,000      d. Rs. 5,01,000 

63. Present age of Neha and Rashmi are in the ratio of 7 : 8 respectively. Six years hence, the ratio of their ages will become 9 : 
10 respectively. What is Rashmi's present age ? 
 a. 36       b. 24      c. 28       d. 40 

64. The area of a circle is 2464 square meters. What will be its circumference? 
a. 132 m       b. 176 m      c. 231 d. 272 m 

65. 123456789 x 8 + 9 is equal to 
a. 98765431      b. 89765431      c. 987654321     d. None of the above 

66. If C = temperature in centigrade thermometer F = temperature in Fahrenheit thermometer and they are related 
by C/5=(F−32)/9, then find the temperature whose value is same in both thermometer. 
A. - 42      b. - 40      c. 40      d. 42 

67. ​Rohan appeared for the Global Talent Search Examination wherein 4 marks are awarded for every correct answer and 1 
mark is deducted for every wrong answer. Rohan attempted all the 60 questions and secured 130 marks. What would have 
been his score if there was no negative marking? 
a. 140       b. 152      c. 160      d. 168 

68.  It costs Rupee 1 to photocopy a sheet of paper. However 2% discount is allowed on all photocopies done after first 1000 
sheets. The discount increases to 5% for all photocopies exceeding 2500 sheets. How much will it cost to copy 5000 sheets of 
paper ? 
a. Rs.4845     b. Rs. 4870     c. Rs.4920     d. None of the above 

69. A contractor employed 100 labours, both male and female. Each female labourer receives Rs.144 as daily wages while each 
male labourer receives Rs.96 as daily wages. If the contractor distributes Rs.12,480 daily as wages, how many more female 
labourers did he employ than male labourers ? 
a. 20       b. 25       c. 30      d. 35 

70. A survey shows that 73% of the Indians like apples, whereas 65% like oranges. What percentage of Indians like both apples 
and oranges ? 
  a. 83%       b. 8%       c. 38%       d. 35% 

71. A horse is tied to a post by a rope. If the horse moves along a circular path, always keeping the rope tight and describes 88m 
when it traces 72° at the centre, then the length of the rope is 
a. 35m        b. 70m        c. 17.5m      d. 22m 
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72. Choose out the odd one: 
a. Skull       b. Spine      c. Femur      d. Tendons 

 

73. Two buses start from the opposite points of a main road, 150 km apart. The first bus runs for 25 km and takes a right turn 
and then runs for 15 km. It then turns left and runs for another 25 km and takes the direction back to reach the main road. In 
the meantime, due to a minor breakdown, the other bus has run only 35 km a long the main road. What would be the distance 
between the two buses at this point ? 
a. 65 km       b. 75 km       c. 80 km       d. 85 km 

74. If 'white' is called 'blue', 'blue' is called 'red', 'red' is called 'yellow', 'yellow' is called 'green', 'green' is called 'black', 'black' is 
called 'violet' and 'violet' is called 'orange', what would be the colour of human blood ? 
a. Red      b. Green      c. Yellow       d. Violet 

75 . In a certain code language '617' means 'sweet and hot', '735' means 'coffee is sweet' and '263' means 'tea is hot'. Which of 
the following would mean 'coffee is hot' ? 
a. 731      b. 536      c. 367      d. 753 
 
76. Which one of the following amendments added the word 'Secular' to the preamble of the Indian Constitution? 
a. 44th Amendment             b. 42nd Amendment           c. 43rd Amendment             d. 45th Amendment 
 
77. Which one of the following chapter provisions has been described as the soul of the Constitution? 
a. The chapter on Fundamental Rights                                 b. The chapter on Directive Principal of State Policy 
c. The Preamble                    d. The provisions regarding judicial review  
 
78. The States re-organization Act, 1956 divided the entire country into: 
a. 22 states and 9 union territories                            b. 14 states and 9 union territories 
c. 17 states and 7 union territories                            d. Four categories of states 
 
79. The Vice President of India is elected by an electoral college consisting of the members of: 
a. Rajya Sabha                            b. Lok Sabha and Rajya Sabha 
c. State Legislatures and Lok Sabha                            d. None of the above 
 
80. In which article of the Constitution of India has the joint sitting of the Lok Sabha and Rajya Sabha been provided? 
a. Article 104 b. Article 108 c. Article 133 d. Article 143 
 
81. The first Election Commissioner of India was: 
a. S.S. Verma b.B.C.Roy c. SukumarSen d. H. J. Kania 
 
82. Which among the following is the middle unit of Three Tier Panchayati Raj System? 
a. Gram Panchayat        b. Panchayat Samiti       c.Zila Parishad        d. Gram Sabha 
 
83. Which one among the following is not stipulated in the Constitution of India? 
a. Union Public Service Commission   b. Election Commission of India 
c. Council of Ministers  d. The Planning Commission 
 
84. Nagarpalika bill was first introduced in the Parliament during the Prime Ministership of: 
a. Rajiv Gandhi  b.Narashimha Rao           c.V. P. Singh d. Indira Gandhi 
 
85. The Planning Commission was set up: 
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a. Under the Government of India Act, 1935   
b. as per the provisions of the Constitution of India 
c. by a Cabinet resolution   
d. as per the recommendations of the National Development Council 
 
86. The leader of the Opposition in the Lok Sabha enjoys the rank of a:- 

a. Central Minister b. Governor c. High Court Judge d. Supreme Court Judge 

87. Which of the following is not in the State List under the Constitution of India? 
a. Insurance b. Fisheries c. Agriculture d. Gambling 
 
88. Which one of the following Articles of the Constitution of India makes a specific mention of village Panchayats? 
a. Article 19 b. Article 43 c. Article 40 d. Article 46 
 
89. The members of the Council of Ministers are collectively responsible to: 
a. The President of India          b. The House of the People          c. The Prime Minister        d. The Rajya Sabha 
 
90. India is a Union of States. This means:- 
a. That the Indian federation is not the result of an agreement between States 
b. That the original federation of States gave way to Sovereign Republic 
c. That the Constituent Assembly has created the unitary State of India 
d. That the making of the Indian Union was preceded by the prolonged struggle for freedom from foreign rule. 
 
91. Respect for the National Flag and National Anthem is:- 
a. Fundamental right of every citizen                   b. Fundamental duty of every citizen 
c. Directive principles of State Policy                                    d.Ordinary duty of every citizen 
 
92. Which of the following states does not have Panchayati Raj Institutions? 
a. Assam b. Nagaland c. Kerala d.Tripura 
 
93. Which Schedule of the Constitution of India distributes power between the Union and the States? 

a. First Schedule        b. Second Schedule        c. Sixth Schedule        d. Seventh Schedule 
 
94. ​A union territory is administered by:- 

a. TheGovernor of the territory  
b. ThePresident of India directly 
c. ThePresident of India through an administrator appointed by him called the lieutenant Governor 
d. TheChief Minister of the territory and his Council of Ministers 
 
95. ​When the name of a state is change or a new state is created the Constitution is required to be amended by the Parliament 

by a:- 

a. Simple majority as required and Article 107 and 108 
b. Majority of total members of both the houses and Article 368 
c. Special majority under Article 368 
d. Special majority after obtaining the opinion of the concerned state legislature and Article 3 
 
96. ​Constitutional amendment shall also be ratified by legislature of not less than 1 half of the states by resolution if it is meant 

to make any change in:- 

a.Fundamental Rights       ​b.Directive principles          c.Fundamental Duties d.Special Provisions 
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97. Which of the following is true? 

a. Parliament has exclusive power to make law in any matter in the union list 
b. Parliament and state legislature have power to make law on any matter in the concurrent list 
c. In certain exceptional circumstances state legislature can make laws on the subject given in the union list 
d. Parliament can make laws on subjects in the state list in certain circumstances 
 
98. Dispute between the Government of India and one or more states and be heard by the supreme court of India under is:- 

a.Original Jurisdiction b.Appeallate Jurisdiction        c.Writ Jurisdiction      ​d.Advisory Jurisdiction 
 
99. Any charge for impeachment of the President maybe preferred:- 

a. Only in the council of states b.Only in the house of the people 

c. In either house of the Parliament d. Only in joint session of the Parliament 

100. The Executive power of the state is vested with:- 

a. People of the state        b. Chief Minister of the state        c. Governor of the state d.State Legislative 
 
101. ​A mixed economy is one:- 

a) Where domestic and foreign trade are intermixed. 
b) Where private and public economic units operate side by side. 
c) Where public sector operates successfully.  
d) Where private sector is policed by State sector planning in India. 

 
102. The reserve Bank of India is:- 

a. A shareholder's Bank b. A government owned bank 
c. Partly private and partly state-owned Bank d. A scheduled Bank 
 
103. ​The concept of planning was first approached in India by 
a. Jawaharlal Nehru    b. Subhash Chandra Bose   c. M Visvesvaraya d. Ardeshir Dalal 
 
104. ​Deficit financing 
a. Increases money supply b. Decreases money supply  
c. Has no effect on money supply d. Has stabilizing effect on price level 
 
105. The objective of the plan strategy followed in the first seven plans was:- 
a. Achieving self Reliance b. Increasing export growth 
c. Increasing import growth d. Maximizing growth of employment 
 
106. Which of the following increases continuously with increase in production? 
a. Fixed cost b. Variable cost c. Average cost d. Marginal cost 
 
107. The heavy and basic industrialization is associated with India's:- 
a. Third five year plan         b. Fourth five year plan         c. Sixth five year plan d. Second five year plan 
 
108. West Bengal’s own industrial policy was declared in the year:- 
a. 1982 b. 1994 c. 1995 d. 1996 
 
109. The earlier name of WTO was 
a. UNCTAD b. GATT c. UNIDO d. OECD 
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110. The planning commission was formed in the year 
a. 1947 b. 1949 c. 1950 d. 1951 
 
111. In India 14 major commercial banks were nationalized in the year:- 
a. 1949 b. 1953 c. 1969 d. 1975 
 
112. ​Peasant farming means:- 

a. The tenant cultivates the land b. The cultivator is the landowner 
c. Cultivation is done by Hired labour d. None of the above 
 
113. NITI Aayog set up by 
a. Resolution by Union cabinet        b. Amending the constitution of India        c. Both a and b     d. Neither a and  
 
114. ​Land reforms largely benefited the economic condition of:- 
a. Agricultural laborers b. Bargadars c. Small farmers    d. Cooperative farmers 
 
115. Major part of the Indian agriculture is characterized by:- 

a. Large size farm b. Capitalist agriculture c. Small size farm d. Cooperative farmers 
 
116. If withdrawal of a worker from employment does not create any output loss this situation is known as 
a. Search unemployment       b. Voluntary unemployment    c. Disguised unemployment           d. Frictional unemployment 
 
117. Green revolution occurred first in:- 

a. Punjab and Haryana  b. Bihar and West Bengal   
c. Andhra Pradesh and Tamil Nadu d. Gujarat and Maharashtra 
 
118. Child labour employment in factories is ban in India below the age of:- 
a. 12 years b. 17 years c. 14 years d. 10 years 
 
119. Expenditure for public administration falls under 
a. Plan expenditure b. Non plan expenditure c. Profitable expenditure d. None of the above 
 
120. The monetary policy of India is framed by 
a. The Government of India b. The Reserve Bank of India c. The State Bank of India d. None of the above 
 
121. Tertiary sectors activities include 
a. Cottage industries b. Mining activities c. Construction activities d. Infrastructure services 
 
122. World development report is published by 
a. The United Nations organizations b. The Asian development Bank 
c. The World Bank d. The World Trade organization 
 
123. The unorganized sector of India is characterized by 
a. More currency transactions b. More Bank transactions 
c. More barter transactions d. More foreign exchange transactions regards 
 
124. Economic reforms were introduced in the year 
a. 1989 b. 1990 c. 1991 d. 1992 
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125. ​Formation of planning commission is mentioned in the article of the constitution 
a. 196 b. 308 c. 360 d. Not mentioned in the constitution 
 
126. A leading British parliamentarian and politician who admitted that the Revolt of 1857 was 'a national revolt' and not a 
military mutiny was: 
a. David George                              b. William Hilderband                             c. Disraeli d. George Bingsley 
 
127. Lord Macaulay was associated with:- 

a. Reforms in the army          b. Abolition of Sati        c. Codification of Laws         d. Permanent settlement 
 
128. Who described Bal Gangadhar Tilak as the 'father of Indian unrest'? 
a. Valentine Chirol                          b. Disrachi                  c. Minto - II                               d. Chelmsford 
 
129. Which of the following results of the Zamindari System was not an advantage to the British? 
a. Creation of political allies  
b. Minimisation of revenue administrative expenditure 
c. Permanent fixation of revenue demand  
d. Provision of financial security 
 
130. During whose period did the European soldiers stage the so called 'White-Mutiny' in India? 

a. Dalhousie            b. Canning             c. Mayo              d. Ripon 
 
131. Who confessed the following way?  'We have no right to seize Sind, Yet we shall do so and a very big advantageous, useful, 
human piece of rascality it will be'. 
a. Lord Auckland           b. Lord Ellenborough        c. Sir Charles Napier      d. Major James Outram 
 
132. The first President of A.I.T.U.C was:- 
a. Lala Lajpat Rai b. MN Roy c. CR Das d. Farooq Shiyar 
 
133. The first propounder of the doctrine of 'Passive Resistance' was? 
a. G.K Gokhale b.Bal Gangadhar Tilak c. Aurobindo Ghosh d. Bipin Chandra pal 
 
134. Who among the following was elected president of the Congress in 1907? 
a. Dadabhai Naoroji b. Rashbehari Ghosh c. Motilal Nehru d. SN Banerjee 
 
135. The partition of Bengal was annulled in:- 
a. 1909 b. 1906 c. 1911 d. 1910 
 
136. Who abolished the dual government in Bengal? 
a. Clive b. Holwell c. Warren Hasting d. Cornwallis 
 
137. Who among the following was not a leader of the revolt of 1857? 
a. Nana Saheb b. Rani Lakshmi Bai c. Mansingh d. Kunwar Singh 
 
138. Who pioneered the 19th century Renaissance in India? 
a. Raja Ram Mohan Roy           b. Raja radhakanta Deb       c. Keshab Chandra Send. Devendranath Tagore 
 
139. Indian National Congress was founded during the viceroyalty of:- 
a. Lord lytton       b. Lord Ripon c. Lord Dufferin d. Lord Lansdowne 
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140. The theory of the 'drain of wealth' from India under the British was first formulated by:- 
a. Surendra nath Banerjee b. G.K Gokhale c. Dadabhai naoroji d. R.C Dutt 
 
141. Among the following Muslim leaders was notassociated with the Boycott movement 1905? 
a. Abdul Rasul b. Liaqat Hussain c. Abdul Halim Gajnavi d. Nawab Salimullah 
 
142. ________Was known as Sher-i-Punjab. 
a. Bhagat Singh      b. Ajit Singh     c. Lala Lajpat Rai d. Lala Hardayal 
 
143. Who introduced dual government in Bengal? 
a. Warren Hastings b. Lord Clive c. Vansittart d. Cornwallis 
 
144. First Viceroy of India? 
a. Lord Dalhousie b. Lord Canning c. Lord Bentick d. Lord Curzon 
 
145. Who published Al-Hilal? 
a. Altaf Hussain Ali      b. Mohammad Ali Jinnah      c. Abul Kalam Azad d. Rehmat Ali 
 
146. Who introduced 'Rakhi Bandhan' during anti partition Movement? 
a. Aswini Datta b. Dayanand c. Rabindranath Tagore d. Surendranath Banerjee 
 
147. Who was the governor general of India during the revolt of 1857? 

a. Lord Dalhousie b. Lord Canning c. Lord Lytton d. Lord Ripon 
 
148. Who was proclaimed as an emperor of India during the revolt of 1857? 
a. Bahadur Shah II b. Tatia Tope c. Nana Saheb d. Mangal Pandey 
 
149. Who first introduced the portfolio system? 
a. Lord Dalhousie b. Lord Canning c. Lord Ripon d. Lord Minto 
 
150. Who founded the 'Amrita bazar Patrika'? 
a. Surendranath Banerjee b. Barendra Ghosh c. Krishna Kumar Mitra d. Shishir Kumar Ghosh 
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